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Follow all the rules. Double check your algebra and math.
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1. A salami is thrown straight up at 37.5 m/s. How high does it go?
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2. An angry bricklayer throws a bricklstraight down at 20 m/s. At 3.50 s later, what is its velocity?
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3. A shot-putter throws the shot straight up from a 325 m high building at 12.0 m/s. What is its velocity when it hits the
ground? -
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[image: image2.png]4. A vicious squirrel throws an acorn straight down from a 15 m high tree at 8.25 m/s. How long does it take to hit?
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EC) In problem 1, what are the two times the salami is 50 m abové the ground?
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